TINDUCTION - WHEN STEP2 woRKks, 80T NOT STEP |

1 Let S(n) be the statement: #° + n is an odd integer.

(@) Show that if S(k) is true, then (k + 1) is true. (b) Is S(1) true? (c) IsS(n) true for any n?
(d) If the statement is not true, what change do you need to make to make it true? Prove your new statement.
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TNDUCTION - WHEN STEP 2 WORKS , BUT NOT STEP |

2 Given P+ 4>+ 7+ ... +(3n—2)2=g(45n2 =3n-1).
{a) Show that if S(k) is true then S(k + 1) is true. (b) Is S(1) true? {c) IsS(n) true for any n?
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3 It is stated that n” — nn + 41 is prime for n > 1.

(@) Is this statement true for n=1? (b) Is this statement true for n =27

(c) Is this statement true for n = 5?

(d) Isit possible to find a value of n for which this expression does not give a prime number? Justify your answer.
(e) Is the given statement true or false?

a)h:l = |2"'l+4"|:lf| Wil b o Faw‘Lwd.uOl
b) f& AT L R o ey BV T R A albo o prime-.
g x& wos 5544l o6l skl b deo o pime

Y To. o= W+ < 411681 m;taﬁc;

e/m delisud 10 FALSE as it o mof Rue
ga U\::lfl.

Q A MDY L4
JEeLUuIl 3 - rdge dD vl ¢
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4 Let S(n) be the statement: #° — n is an odd integer.

(@) Show that if S(k) is true then S(k + 1) is true.
(b) Is S(1) true?
(c) Is S(n) true for any n?

Y Ao S(E)
Thon (R+) =)= B2 +2& +1 -k -

Y I IR I

iy gl
odd on we e amuwe SR) % b bws

C 8y (1) (R o b ot (G Beoon
L SR i e f SEe

bwe. A0 36; e Z mdl et QZ—QJT‘I

odd  and ewen "‘“‘”*bu)
b) £, acl  12=1 =0 mot odd.

) h, S(1) i et hwa, Tuw. (M) @& ack
e

Section 3 - Page 4 of 4



